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Instructions :

(1) All questions are compulsory.

ENGLISH VERSION

(2) Figures to the right indicate marks.

1 The Balance Sheet of Khushwant Ltd. as on 31-3-2018 is 20

as under :

Liabilities Rs. Assets Rs.
Equity Share Capital 12,00,000 Land-Building 9,00,000
10% Preference 6,00,000 Machineries 6.00,000
Share Capital Investments 3.00,000
General Reserve 4,86,000 Stock 4.00,000
15% Debentures 6,00,000 Debtors 8.00,000
Creditors 48,000 Bills receivables 60,000
Provident Fund 72,000 Cash 1n hand 1,20,000
Provision for Taxes 60,000 Preliminary Expenses 6,000
Bank Overdraft 1,20,000

31,86,000 31,86,000

Additional Information :

(1) The book value of land-building is 50% of its market

value. New market value is to be considered.

(2) The value of 50% of stock is 25% less.

(3) 1/3'd of the investments are made outside the business.

(4) Profit before interest and tax is Rs. 7,20,000.

(5) Profit and loss account prepared for the year includes the

following :

- Income from investments outside the business Rs. 10,000.
- Bad Debts recovered Rs.6,000

- Loss on sales of machinery Rs. 14,000
- Interest on bank overdraft Rs. 8,000.

From the above information, find out :

(1) Rate of return on Gross Capital Employed

(2) Rate of return on Net Capital Employed

(3) Rate of return on Owner's Capital.
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1 The Balance Sheet of Dhyey Ltd. as on 31-3-2018 is as 20

under :

Liabilities Rs. Assets Rs.
Paid-up Share Capital : Land-Building 1,59,680
20,000 Equity Shares 2,00,000 Shares of subsidiary
of Rs. 10 each, fully paid company 64,000
2,800 Preference 2,80,000 Plant-Machinery 3,20,000
shares of Rs.100 each Stock 1,53,600
fully paid Debtors 4,80,000
Share premium 44,880 Cash Balance 16,000
Profit and loss A/e 2,09,600 Preliminary Expenses 4,000
General Reserve 1,12,000 Long-term investment 56,000
9% Debentures 22,400
Creditors 3,06,000
Long term bank loan 8,000
Proposed Dividend 27,200
Bills Payable 43,200

12,53,280 12,53,280

Additional Information :-

ey
)

3)
4)
()
©6)
()
@)

©)

Re-establishment price of land-building is Rs. 2,90,800.
Value of shares of subsidiary company is estimated

at Rs. 80,000 at present.

Investment are valued at Rs. 62,400.

Net profit before tax is Rs. 2,40,000.

Stock of Rs. 800 has become obsolete, which is

included in the above mentioned stock.

Additional depreciation of Rs. 9,120 is to be charged on
land building on the basis of re-establishment.

Profit of Rs. 4,000 on the sales of last year is included in
this year's profit.

Interest on bank loan Rs. 400 is deducted while deciding the
profit of the current year.

Loss on sales of motor-car Rs. 400 has been debited to profit
and loss account.

From the above information, calculate the following :

ey
)
3)

Rate of return on total capital employed.
Rate of return on net capital employed.
Rate of return on owner's capital.
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2  Following is the Balance Sheet of Rubal Ltd. as on 20

31-3-2018 :

Liabilities Rs. Assets Rs.

Equity Share Capital 10,000 Fixed Asset 36,000

10% Preference Share Capital 2,000 Less :

Reserves 8,000 Provision 10,000

10% Debentures 14,000 for Depreciation 26,000

Creditors 1,200 10% Govt. ~—

Bills Payable 2,000 Securities 3,000

QOutstanding Expenses 200 Stock 6,000

Provision for taxes 2,600 Debtors 4,000

Cash 1,000

40,000 40,000

Additional Information :-

ey
)
3)
4)

Net sales Rs. 60,000

Net income before tax Rs. 4,000
Cost of goods sold Rs. 51,600
Net income after tax Rs. 2,000

Calculate the following ratios :

®
(ii)
(ii1)
@iv)
W)
(vi)
(vii)
(vii)
(ix)
)

Current ratio
Debt equity ratio
Proprietary ratio
Gross profit ratio
Net profit ratio
Operating ratio
Return on capital employed
Average collection period
Capital gearing ratio
Liquid ratio

OR

2  The management of Uday Ltd. requires you to project a 20
Trading A/c, Profit and Loss A/c and Balance sheet on the basis
of following estimated figures and ratios for the next financial year
ending 31-3-2019.

(1) Gross profit ratio 25%
(2) Stock turnover ratio 5 times
(3) Average Debt collection period 3 months
4) Creditor's velocity 3 months
(5) Current ratio 2:1
(6) Fixed assets to capital employed 80%
(7) Capital gearing ratio 30%

(Preference Shares and Debentures to Equity)
(8 Net profit to equity share capital 10%
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(9) General Reserve and Profit and Loss A/c to

equity share capital 25%
(10) Preference share capital to debentures 2:1
(11) Cost of sales consists of 50% for materials.
(12) Gross profit Rs. 25,00,000
(13) Total assets Rs. 1,20,00,000
3  Prepare a value added statement from the following : 15

Income and Expenditure statement of Varun Ltd.
Particulars Rs.
Sales 1,00,00,000
Less:

Cost of materials (% on sales) 30%

Wages (% on sales) 20%

Purchase of services (% on sales) 10%

Depreciation (% on sales) 10%

Interest (% on sales) 10%
Profit before tax 20,00,000
Less: Provision for Taxes (60%) 12,00,000
Profit after tax 8,00,000
Less: Dividend paid 6,00,000
Retained earnings 2,00,000

OR
3 What 1s value Added ? Explain Gross Value Addition 15

and Net Value Addition. Also discuss the utility of the
concept of value addition.

4 (A) What is Economic Value Added ? How is it 8
calculated ?
(B) Explain the concept of market value added and its 7
uses.
OR
4  What 1s balanced score card ? Explain the importance 15

and limitations of balanced score card.
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